


E 3188-0410

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

0 N OO g br ODN

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

N N N D A A A A A QO Q QO QO 2 DD NN DD 2 NDDPDDDNDN 2O DDNN Dbt DD DO A

11000983
11001002
21000588
20025287
10003817
10009673
25038020
20029004
25049008
25044026
20029004
25031005
25015001
10009666
25040027
20026475
10009799
25024004
10003818
25040068
20029001
25049020
10003823
25047026
25049020
20022003
10001271
25015039
25027013
25007005
25044080
20029006
25048017
25049004
10003822
25044013
20029001
10008030
25040030
20029001

ohne / without Logo
DIN7964-M10x75

DIN933-M12x30
VSK 12
DIN1440-12
DIN912-M12x35
VSK 12
DIN934-M12

DIN931-M8x35

DIN931-M10x45
VSK 10
DIN7349-10,5

DIN7991-M10x30
DIN7349-10,5
Tensilock M10

DIN913-M8x16

DIN912-M5x25
VSK 5
DIN125-A5,3
DIN440-R6,6

DIN912-M10x30
VSK 10

DIN931-M10x40
VSK 10

40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70

SO U G I |\ S U &' I &' IR G &' IR &'t NN G U U6 © JENN © o [N G (U UL U (U UL N U (U W U N0 T N O S S N

10003843
25038007
20029003
25049016
25038016
25049020
20029001
25031004
21000334
25008017
21000518
25031032
20025764
20020108
10003391
10008303
25038003
25008002
20025195
20025365
10003888
20022017
25049004
10009783
20022017
25049004
10009874
20022017
25049004
30025011
20026363

DIN933-M8x20
VSK 8
DIN440-R9
DIN933-M10x35
DIN7349-10,5
VSK 10
DIN934-M10

DIN7603-22x27x1,5

DIN934-M22x1,5

DIN933-M6x20
DIN7603-6x10x1

Tensilock M6x16
DIN440-R6,6

Tensilock M6x16
DIN440-R6,6

Tensilock M6x16
DIN440-R6,6
0,210 m

05.13




